
  

 

 

U.G. DEGREE EXAMINATION –  
DECEMBER 2023. 

Corporate Secretaryship / Accounting and Finance  

Third Year 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 
Answer any THREE questions. 

1. Write any two functions of business finance.  
 ÁoP {v°ß H÷uÝ® Cμsk ö\¯À£õkPøÍ 

GÊuÄ®. 

2. What is Term loan?  
 Põ»Phß GßÓõÀ GßÚ? 

3. What is cost of capital? 
 ‰»uÚzvß Âø» GßÚ? 

4. What is working capital? 
 £o ‰»uÚ® GßÓõÀ GßÚ? 

5. What do you mean by dividend? 
£[Põuõ¯® GßÓõÀ GßÚ? 

 UG-C-2264 BCS-31X
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SECTION B — (3 × 7 = 21 marks) 
Answer any THREE questions. 

6. What is the objectives of business finance? 

 ÁoP {v°ß ÷|õUP[PÒ GßÚ? 

7. Distinguish between equity shares and 
debentures.  

 DUÂmi £[SPÒ ©ØÖ® Phß £zvμ[PøÍ 
÷ÁÖ£kzxP. 

8. List out the features of a capital structure. 
 J¸ ‰»uÚ Pmhø©¨¤ß A®\[PøÍ £mi¯¼kP. 

9. Calculate (a) Average collection period (b) Debtors 
turnover from the following particulars. Credit 
sales Rs.2,70,000, Return inwards Rs.20,000 
Debtors at the beginning Rs. 55,000. Debtors at 
the end Rs.45,000, provision for doubtful debts 
Rs.5,000 and Assume number of days in a year  
is 360. 

 (A) \μõ\› Á`À Põ»® (B) PhÚõÎPÎß Á¸Áõ´ 
¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PnUQhÄ®. Phß 
ÂØ£øÚ ¹.2,70,000, EÒ÷|õUQ v¸®£ ¹.20,000 
PhÚõÎPÒ öuõhUPzvÀ ¹.55,000 PhÚõÎPÒ 
CÖv°À ¹.45,000. Áμõ I¯U Phß JxUS  
¹. 5,000 ©ØÖ® J¸ Á¸hzvÀ |õmPÎß 
GsoUøP 360 GßÖ øÁzxUöPõÒ÷Áõ®. 

10. Give various forms of dividends. 
 DÄzöuõøP°ß £À÷ÁÖ ÁiÁ[PøÍU öPõk[PÒ. 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

11. Discuss the significance of finance function. 

 {vaö\¯À£õmiß •UQ¯zxÁzøu¨ £ØÔ 
ÂÁõvUPÄ®. 

12. Veera Ltd. offers for public subscription equity 
shares of Rs. 10 each at a premium of 10%. The 
company pays an under writing commission of 5% 
on the issue price. The equity shareholder expect a 
dividend of 15%. (a) Calculate the cost of equity 
capital. (b) Calculate the cost of equity capital, if 
the market price of the share is Rs.20.  

 Ãμõ ¼ªöhm 10% ¤Ÿª¯zvÀ u»õ ¹.10 
ö£õx\¢uõ DUÂmi £[SPøÍ ÁÇ[SQÓx. 
öÁÎ±mk Âø»°À {ÖÁÚ® 5% GÊu® 
PªåøÚ ö\¾zxQÓx. DUÂmi £[Suõμº 15% 
DÄzöuõøPø¯ Gvº£õºUQÓõº. (A) £[S 
‰»uÚzvß AhUP Âø»ø¯U PsUQk[PÒ.  
(B) £[SPÎß \¢øu Âø» ¹.20 GÛÀ, £[S 
‰»uÚzvß AhUP Âø»ø¯U PnUQhÄ®. 

13. What are the determinant of capital structure of a 
company? Explain them. 

 J¸ {ÖÁÚzvß ‰»uÚ Pmhø©¨ø£ wº©õÛ¨£x 
GßÚ? AÁØøÓ ÂÍUS[PÒ. 
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14. Explain briefly the different sources of working 
capital. 

 £o ‰»uÚzvß öÁÆ÷ÁÖ ÁÍ[PøÍ _¸UP©õP 
ÂÍUPÄ®. 

15. The earnings per share of a company are Rs.10. 
The rate of capitalisation is 10% and the retained 
earnings can be employed to yield a return of 20%. 
The company is considering a pay out of (a) 20% 
(b) 40% (c) 60%. Which of these would maximise 
the wealth of the shareholders as per Walter’s 
model? 

 J¸ {ÖÁÚzvß J¸ £[Qß Á¸Áõ´ ¹.10, 
‰»uÚ©¯©õUPÀ ÂQu® 10% ©ØÖ® 20% 
Á¸©õÚzøu DmhuUP Á¸©õÚ® 
£¯ß£kzu¨£h»õ®. {ÖÁÚ® (A) 20%  (B) 40% 
(C) 60% Fv¯zøu £›^¼zx Á¸QÓx. CÁØÔÀ 
Gx ÁõÀh›ß ©õv›°ß £i £[SuõμºPÎß 
ö\ÀÁzøu AvP¨£kzx®? 

16. List out the different types of preference shares. 

 £À÷ÁÖ ÁøP¯õÚ •ßÝ›ø© £[SPøÍ 
£mi¯¼k[PÒ. 

17. Explain factors affecting the dividend decision. 

 DÄzöuõøP •iøÁ £õvUS® PõμoPøÍ 
ÂÍUS[PÒ. 

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION –  
DECEMBER 2023. 

Accounting and Finance 

Third Year 

AUDITING 

Time : Three hours Maximum  marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions. 

1.  Define auditing. 
 uoUøPø¯ Áøμ¯ÖUPÄ® 

2. What is a voucher? 
 \õßÓõ´Ä GßÓõÀ GßÚ? 

3. What is meant by EDP audit? 

 EDP uoUøP GßÓõÀ GßÚ? 

4. What is the qualification of an auditor? 
 uoUøP¯õÍ›ß uSv GßÚ? 

5. What do you mean by Company Audit? 
 {ÖÁÚ uoUøP Gß£uß ‰»® }[PÒ GßÚ 

ö\õÀQÕºPÒ? 

 UG-C-2274 BAF-32X
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SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions. 

6. Explain the objectives of Internal check? 

 EÒ÷\õuøÚ°ß ÷|õUP[PøÍ ÂÍUSP. 

7. List out the objectives of Verification 

 \›£õº¨¤ß ÷|õUP[PøÍ £mi¯¼kP? 

8. What are the uses of EDP audit? 

 EDP uoUøP°ß £¯ßPÒ GßÚ? 

9. How to do the audit of financial statements? 

 {v AÔUøPPøÍ GÆÁõÖ uoUøP ö\´Áx? 

10. What are the features of investigation in auditing? 

 uoUøP°À Â\õμøn°ß A®\[PÒ GßÚ? 

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions.  

11. Explain the classification of audit. 

  uoUøP°ß ÁøP¨£õmøh ÂÁ›. 

12. Differentiate verification and valuation. 

  \›£õº¨¦ ©ØÖ® ©v¨¥møh ÷ÁÖ£kzx[PÒ 
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13. What is the auditor’s duty regarding depreciation 
and reserves? Explain. 

  ÷u´©õÚ® ©ØÖ® øP°¸¨¦ öuõhº£õÚ 
uoUøP¯õÍ›ß Phø© GßÚ?  

14. List out the rights and duties of an auditor. 
 uoUøP¯õÍ›ß E›ø©PÒ ©ØÖ® Phø©PøÍ 

£mi¯¼k[PÒ, 

15. Explain the classes of investigation in auditing. 

  uoUøP°À Â\õμøn ÁS¨¦PøÍ ÂÍUPÄ® 

16. How to vouch for the following  

 (a) Purchase book  

 (b)  Purchase return book  

 (c) Credit sales book  

 (d) Sales return book 

  ¤ßÁ¸ÁÚÁØÔØS G¨£i EÓv¯ÎUP ÷Ásk® 

 (a) öPõÒ•uÀ ¦zuPzvØS 

 (b)  öPõÒ•uÀ v¸®£¨ ¦zuP® 

 (c) Phß ÂØ£øÚ ¦zuP® 

 (d) ÂØ£øÚ v¸®£ ¦zuP® 

17. Explain the Advantages of auditing. 

 uoUøP°ß |ßø©PøÍ ÂÍUPÄ® 

  

––––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER, 2023. 

Accounting and Finance  

Third Year 

COST ACCOUNTING  

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 
Answer any THREE questions out of Five questions in 

100 words.  
All question carry equal marks. 

1. What is cost centre? 
 AhUP ö\»Ä ø©¯® GßÓõÀ GßÚ? 

2. Give a note on material control. 
 ö£õ¸Ò Pmk¨£õk £ØÔ SÔ¨¦ u¸P.  

3. The production department of a factory has 
furnished the following details. Direct wages 
Rs.1,50,000; Production overhead Rs.75,000; 
Compute overhead recovery rate on the basis of 
direct labour. 

 J¸ öuõÈØ\õø»°ß EØ£zvz xøÓ ¤ßÁ¸® 
ÂÁμ[PøÍ AÎzxÒÍx. ÷|μi T¼ ¹. 1,50,000 
EØ£zv ö\»Ä ¹. 75,000 ÷|μi EøÇ¨¤ß 
Ai¨£øh°À ö\»Ä «m¦ ÂQuzøu 
PnUQk[PÒ.  

 UG–C–2276 BAF–34X
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4. Calculate the amount of cash received: 

 Work certified Rs.4,00,000; Cash received 80% of 
work certified. 

 ¤ßÁ¸® ÂÁμ[PøÍU öPõsk ö£Ó¨£mh 
öμõUPzøu GÆÁÍÄ GßÖ PnUQk[PÒ : 
\õßÓÎU¨£mh ÷Áø» ¹. 4,00,000 ö£Ó¨£mh 
öμõUP® ÷Áø» •i¨¦ \õßÔuÈÀ 80%. 

5. What is the Breakeven point when P/V ratio is 
40% and Fixed cost is Rs.5,00,000? 

 P/V ÂQu® 40% BPÄ® {ø»¯õÚ ö\»Ä  
¹. 5,00,000 BPÄ® C¸US®÷£õx (•ÔÄ ¦ÒÎ) 
ußøÚa \›UPmk® {ø» GßÚ? 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words.  

All question carry equal marks. 

6. A factory produces 100 units of a commodity. The 
cost of production is 

                 Rs. 
 Direct materials   10,000 
 Direct wages     5,000 
 Direct expenses       1,000 
 Factory overheads    6,500 
 Administrative overheads   3,480 

 If profit of 25% on sales is to be realized what 
would be the selling price of each unit of the 
commodity? Prepare the cost sheet. 
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 J¸ öuõÈØ\õø» 100 ³ÛmPÒ ö£õ¸mPøÍ 
EØ£zv ö\´QÓx. EØ£zv ö\»Ä ÂÁμ[PÒ 
¤ßÁ¸©õÖ.  

                            ¹. 

 ÷|μi ö£õ¸mPÒ    10,000 

 ÷|μi T¼        5,000 

 ÷|μi ö\»ÄPÒ              1,000 

 öuõÈØ\õø» ÷©À{ø» ö\»ÄPÒ  6,500 

 {ºÁõP ÷©À{ø» ö\»ÄPÒ     3,480 

 ÂØ£øÚ°À 25% »õ£® QøhUS® GßÓõÀ 
JÆöÁõ¸ ö£õ¸Îß ÂØ£øÚ Âø» GßÚÁõP 
C¸US®? AhUP ö\»Äz uõøÍz u¯õ›UPÄ®.   

7. State the two basic methods of wage payment. 

 T¼ ÁÇ[SÁuØPõÚ Cμsk Ai¨£øh 
•øÓPøÍ TÖP.  

8. Prepare a statement of reconciliation from the 
following. 

 Net loss as per cost accounts Rs.34,500 

 Works overhead under - recovered in costing 
Rs.6,240 

 Administration overhead recovered in excess 
Rs.3,400 

 Goodwill written off Rs.5,000 

 Interest on investments not included in costing 
Rs.6,000. 
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 ¤ßÁ¸ÁÚÁØÔ¼¸¢x \©μ\ AÔUøPø¯z 
u¯õ›UPÄ®. 

 AhUP ö\»Ä PnUSPÎß£i {Pμ |mh® 
¹.34,500 

 ÷©À{ø» ÷Áø» ö\»Ä & ¹.6,240 ©v¨¤ß RÌ 
«möhkUP¨£mhx. 

 {ºÁõP ÷©À{ø» ö\»ÄPÒ ¹.3,400US ÷©À 
Á`¼UP¨£mhx. 

|Øö£¯º ÷£õUöPÊv¯ ¹.5,000 

 •u½kPÐUPõÚ Ámi ¹.6,000 ö\»ÄU PnUQÀ 
÷\ºUP¨£hÂÀø». 

9. From the following information prepare process 
account and normal loss account. Input of Raw 
materials 1,000 units @ Rs.6 per unit. Direct 
material Rs.5,200; Direct wages Rs.4,000; 
Production overheads Rs.4,000; Actual output 
transferred to Process II 950 units; Normal loss 
5%; Value of scrap per unit Rs.4 per unit. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ö\¯À•øÓ PnUS 
©ØÖ® \õuõμn |mh® PnUøPz u¯õ›UÄ®. 
‰»¨ö£õ¸mPÎß EÒÏk 1,000 ³ÛmPÒ ; J¸ 
³ÛmkUS ¹. 6 ÷|μi ö£õ¸Ò ¹. 5,200 ÷|μi T¼ 
¹. 4,000 EØ£zv ÷©À{ø» ö\»ÄPÒ ¹. 4,000 
ö\¯À•øÓ II 950 ³ÛmPÒ Esø©¯õÚ öÁÎ±k 
©õØÓ¨£mhx \õuõμn |mh® 5% J¸ ³Ûm 
u¯õ›¨£uØPõÚì Qμõ¨¤ß ©v¨¦ ¹. 4 BS®.  
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10. A manufacturing company finds that while cost of 
making a component part is Rs.l0. the same is 
available in the market at Rs.9 with an assurance 
of continuous supply. Give your suggestion 
whether to make or buy this part. Give also views 
in case the supplier reduces the price from Rs.9 to 
Rs.8. The cost information is as follows. 

 Rs. 

Material 3.50

Direct labour 4.00

Other variable expenses 1.00

Fixed expenses 1.50

 10.00

 J¸ Ev› £õP® u¯õ›¨£uØPõÚ ö\»Ä ¹. 10 
BS®. A÷u \©¯® \¢øu°À ¹. 9US öuõhº¢x 
Â{÷¯õP® QøhUS® GßÖ J¸ EØ£zv {ÖÁÚ® 
PshÔ¢xÒÍx. C¢u £õPzøu u¯õ›¨£uõ AÀ»x 
Áõ[SÁuõ GÚ E[PÒ B÷»õ\øÚø¯ ÁÇ[PÄ®. 
\¨øÍ¯º Âø»ø¯ ¹. 9À C¸¢x ¹. 8US 
SøÓ¢uõÀ B÷»õ\øÚø¯ öPõk[PÒ. AhUP 
ö\»Ä ÂÁμ[PÒ ¤ßÁ¸©õÖ.  

 ¹. 

ö£õ¸Ò 3.50
÷|μi T¼ 4.00
¤Ó ©õÔ ö\»ÄPÒ 1.00
{ø»¯õÚ ö\»ÄPÒ 1.50

 10.00
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words.  

All question carry equal marks. 
11. Two materials A and B are used as follows: 
 Normal consumption — 50 units per week each 
 Maximum consumption — 75 units per week each 
 Minimum consumption — 25 units per week each 
 Reorder quantity: A 300 units; B 500 units 
 Reorder period A 4 to 6 weeks B 2 to 4 weeks 
 Calculate for each component (a) Reorder level  

(b) Minimum level (c) Maximum level (d) Average 
stock level. 

 A ©ØÖ® B BQ¯ Cμsk ö£õ¸mPÒ ¤ßÁ¸® 
£¯ß£kzu¨£kQßÓÚ.  

 \õuõμn ~PºÄ & JÆöÁõ¸ Áõμ•® 50 ³ÛmPÒ 

 AvP£m\ ~PºÄ & JÆöÁõ¸ Áõμ•® 75 ³ÛmPÒ 

 SøÓ¢u£m\ ~PºÄ & ÁõμzvØS 25 ³ÛmPÒ 

 ©ÖÁ›ø\¨£kzx AÍÄ : A 300 ³ÛmPÒ B 500 
³ÛmPÒ 

 ©ÖÁ›ø\¨£kzxuÀ Põ»® A 4 •uÀ 6 Áõμ[PÒ 

 2 •uÀ 4 Áõμ[PÒ 

 JÆöÁõ¸ TÖUS® PnUQhÄ® (A) ©ÖÁ›ø\ 
{ø» (B) SøÓ¢u£m\ {ø» (C) AvP£m\ {ø» 
(D) \μõ\› £[S {ø»  



 UG–C–2276 7

12. Explain the features Activity Based Costing. 
 ö\¯À£õmk Ai¨£øh°»õÚ ö\»Âß 

A®\[PøÍ ÂÍUSP. 

13. A company has three production departments and 
two service departments and for a period the 
departmental distribution summary has the 
following totals. 

 Rs. 

Production Departments:  

A 8,000

B 7,000

C 5,000

Service Departments : 

X 2,340

Y 3,000

 The expenses of service departments are charged 
out on a percentage basis as follows. 

Department A B C X Y 

X 30% 40% 20% - 10%

Y 30% 25% 25% 20% - 

 Prepare a statement showing the apportionment 
of the two service department expenses to the 
production departments. 
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 J¸ {ÖÁ® ‰ßÖ EØ£zvz xøÓPÒ ©ØÖ® 
Cμsk ÷\øÁz xøÓPøÍU öPõskÒÍx ©ØÖ® 
J¸ SÔ¨¤mh Põ»zvØSz xøÓ\õº¢u Â{÷¯õPa 
ö\»Ä _¸UP® ¤ßÁ¸® ö©õzu[PøÍU 
öPõskÒÍx.  

 ¹. 

EØ£zv xøÓPÒ :  

A 8,000

B 7,000

C 5,000

÷\øÁ xøÓPÒ : 

X 2,340

Y 3,000

 

 ÷\øÁz xøÓPÎß ö\»ÄPÒ \uÃu Ai¨£øh°À 
¤ßÁ¸® Á`¼UP¨£kQßÓÚ.  

xøÓ A B C X Y 

X 30% 40% 20% - 10%

Y 30% 25% 25% 20% - 

 Cμsk ÷\øÁz xøÓ ö\»ÂÚ[PøÍ EØ£zvz 
xøÓPÐUS¨ £Qº¢uÎ¨£øuU Põmk® 
AÔUøPø¯z u¯õº ö\´¯Ä®.  
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14. Write a detail note on the following. 

(a) Operating costing 

 (b) Contract costing 
 ¤ßÁ¸ÁÚÁØøÓ Â›ÁõÚ SÔ¨¦ ÁøμP.  

(A) C¯UP ö\»Ä 

 (B) J¨£¢u ö\»Ä 

15. The sales and profit for 2005 and 2006 are as 
follows: 

 Sales Profit 

 Rs. Rs. 

2005 1,50,000 20,000

2006 1,70,000 25,000

 Find out: 

 (a) P/V ratio 

 (b) BEP 

 (c) Sales for a profit of Rs.40,000 

 (d) Profit for sales of Rs.2,50,000 and 

 (e) Margin of safety at a profit of Rs.50,000. 

 2005 ©ØÖ® 2006 BskPÐUPõÚ ÂØ£øÚ 
©ØÖ® »õ£® ÂÁμ[PÒ ¤ßÁ¸©õÖ.  

 ÂØ£øÚ »õ£®

 ¹. ¹. 

2005 1,50,000 20,000

2006 1,70,000 25,000
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 Psk¤i : 

 (A) P/V ÂQu® 

 (B) BEP 

 (C) ÂØ£øÚ »õ£® ¹. 40,000 & BP C¸US® 
ö£õÊx  

 (D) ÂØ£øÚ ¹. 2,50,000&BP C¸US® ö£õÊx, 
C»õ£® GÆÁÍÄ ©ØÖ®  

 (E) C»õ£® ¹. 50,000&BP C¸US® ö£õÊx 
£õxPõ¨¦ ÂÎ®¦ GÆÁÍÄ? 

16. Elaborate the classification of overheads.  
 ÷©À{ø»PÎß ö\»ÄPÎß ÁøP¨£õmøh 

Â›ÁõP GÊxP.  

17. Prepare a cost sheet from the following 
particulars: 

                                                                   Rs. 

 Opening stock: Materials  2,00,000 

 Work-in-progress    60,000 

 Finished goods    5,000 

 Closing stock: Materials   1,80,000 

 Work-in-progress   50,000 

 Finished goods    15,000 

 Materials purchased   5,00,000 

 Direct wages    1,50,000 

 Manufacturing expenses  1,00,000 

 Sales      8,00,000 

 Selling and distribution expenses 20,000 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x AhUP ö\»Ä 
AÔUøPø¯ u¯õ›UPÄ®.   

                                                                                     ¹. 

 öuõhUP \μUQ¸¨¦ ö£õ¸mPÒ 2,00,000 

 ÷Áø» |h¢x öPõsi¸¨£vß ©v¨¦  60,000 

 •iUP¨£mh \μUSPÒ    5,000 

 CÖv \μUQ¸¨¦ : ö£õ¸mPÒ  1,80,000 

 ÷Áø» |h¢x öPõsi¸¨£vÀ ©v¨¦ 50,000 

 •iUP¨£mh \μUSPÒ    15,000 

 ö£õ¸mPÒ öPõÒ•uÀ ö\´¯¨£mhøÁ 5,00,000 

 ÷|μi T¼     1,50,000 

 EØ£zv ö\»ÄPÒ   1,00,000 

 ÂØ£øÚ     8,00,000 

 ÂØ£øÚ ©ØÖ® Â{÷¯õP ö\»ÄPÒ 20,000 

 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION — 
DECEMBER 2023. 

Accounting and Finance 

Third Year 

ACCOUNTING FOR MANAGERIAL DECISIONS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions  
in 100 words. 

All questions carry equal marks. 

1. What is meant by financial accounting? 

 {v PnUQ¯À GßÓõÀ GßÚ? 

2. How do you show the following items in a 
comparative income statement? 

Particulars 31-3-2006 31-3-2007

 Rs. Rs. 

Sales 10,00,000 12,00,000

Cost of sales 8,00,000 10,50,000

 UG–C–2277 BAF-35X
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 J¨¥mk Á¸©õÚ AÔUøP°À ¤ßÁ¸® 
E¸¨£iPøÍ GÆÁõÖ PõmkÃºPÒ? 

ÂÁμ[PÒ 31-3-2006 31-3-2007 

 ¹. ¹. 

ÂØ£øÚ 10,00,000 12,00,000
ÂØ£øÚ ö\»Ä 8,00,000 10,50,000

3. Find out operating ratio and operating profit ratio. 
Cost of goods sold Rs. 1,80,000; Other operating 
expenses Rs. 30,000, Net sales Rs. 3,00,000. 

 C¯UP ÂQu® ©ØÖ® ö\¯À£õmk C»õ£ 
ÂQuzøuU PshÔP. ÂØP¨£mh ö£õ¸mPÎß 
Âø» ¹. 1,80,000; ©ØÓ C¯UP ö\»ÄPÒ  
¹. 30,000, {Pμ ÂØ£øÚ ¹. 3,00,000. 

4. Prepare production budget for the quarter ending 
31st March 2004. Budgeted sales for the quarter 
40,000 tons: Stock on 31st December 2003 — 8,000 
tons: required stock on 31st March 2004 — 10,000 
tons. 

 ©õºa 31, 2004 CÀ •iÁøh²® Põ»õsiØPõÚ 
EØ£zv £möámøhz u¯õ›UPÄ®. Põ»õsiØPõÚ 
£möám ÂØ£øÚ 40,000 hßPÒ: 31 i\®£º 2003 
AßÖ C¸¨¦ — 8,000 hßPÒ: 31 ©õºa 2004 AßÖ 
÷uøÁ¯õÚ C¸¨¦ — 10,000 hßPÒ. 

5. What is NPV method? 

 NPV •øÓ GßÓõÀ GßÚ? 
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PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions  
in 200 words. 

All questions carry equal marks. 

6. State the limitations of management accounting. 

 ÷©»õsø© PnUQ¯¼ß Áμ®¦PøÍU SÔ¨¤kP. 

7. The summary of Balance sheet data in respect of 
A Ltd and B Ltd. is as under. 

Particulars A Ltd  B Ltd 

 Rs. Rs. 

Buildings 1,00,000 4,50,000

Machinery 3,00,000 7,50,000

Share capital 4,50,000 14,50,000

Retained earnings 50,000 33,000

Debtors 1,15,000 1,60,000

Stock 60,000 2,17,000

Cash 10,000 5,000

Prepaid expenses 5,000 3,000

Creditors 91,000 1,00,000

Liability for expenses 9,000 17,000

Preliminary expenses 10,000 15,000

 Prepare common-size balance sheets. 
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 H ¼ªö©hm ©ØÖ® ¤ ¼ªöhm öuõhº£õÚ 
C¸¨¦{ø»z uμÄPÎß _¸UP® R÷Ç 
öPõkUP¨£mkÒÍx.  

ÂÁμ[PÒ H ¼ªöhm ¤ ¼ªöhm

 ¹. ¹. 

Pmih[PÒ 1,00,000 4,50,000
C¯¢vμ® 3,00,000 7,50,000
£[S ‰»uÚ® 4,50,000 14,50,000
uUP Á¸Áõ´ 50,000 33,000
PhÚõÍºPÒ 1,15,000 1,60,000
\μUS  60,000 2,17,000
öμõUP® 10,000 5,000
•ßøÁ¨¦ ö\»ÄPÒ 5,000 3,000
Phß öPõkzuÁºPÒ 91,000 1,00,000
ö\»ÄPÐUPõÚ  

ö£õÖ¨¦ 9,000 17,000
Bμ®£ ö\»ÄPÒ 10,000 15,000

 ö£õxÁõÚ AÍÄ C¸¨¦{ø»U SÔ¨¦PøÍz 
u¯õ›UP. 

8. From the following information, prepare a Balance 
sheet. Give the workings also. Working capital – 
Rs.75,000; Reserve and surplus – Rs.1,00,000; 
Bank overdraft – Rs.60,000; Current ratio – 1.75; 
Liquid ratio – 1.15; Fixed assets to Proprietor’s 
funds – 0.75; Long term liabilities – Nil. 



 UG–C–2277 5

 ¤ßÁ¸® uPÁ¼¼¸¢x, C¸¨¦{ø»U SÔ¨ø£z 
u¯õ›UP ©ØÖ® ö\¯À£õkPøÍ²® öPõk[PÒ. 
|øh•øÓ ‰»uÚ® ¹.75,000; Põ¨¦ ©ØÖ® E£› – 
¹.1,00,000; Á[Q ÷©À Áøμ¨ £ØÖ – ¹. 60,000; 
|øh•øÓ ÂQu® – 1.75; vμÁ ÂQu® – 1.15; 
E›ø©¯õÍ›ß {vPÐUS {ø»¯õÚ ö\õzxUPÒ – 
0.75; }sh Põ» ö£õÖ¨¦PÒ CÀø». 

9. Explain in brief about external sources of funds. 
 öÁÎ¨¦Ó {v Buõμ[PøÍ¨ £ØÔ _¸UP©õP 

ÂÍUSP. 

10. Give a note on IRR. 

 IRR £ØÔ SÔ¨¦ u¸P. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Six questions  
in 500 words. 

All questions carry equal marks. 

11. Explain the duties of management accountant. 
 ÷©»õsø© PnUPõÍ›ß Phø©PøÍ ÂÍUSP. 

12. From the following Income Statement of S Ltd for 
the years 2006 and 2007. Prepare common size 
income statement. 

Particulars 2006 2007 

Gross sales 7,25,000 8,15,000

Less:  

Sales returns 25,000 15,000

Net Sales 7,00,000 8,00,000
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Cost of sales 5,95,000 6,15,000
Gross profit (A) 1,05,000 1,85,000
Operating  
Expenses (B)  
Selling and Dist.  
Expenses 23,000 24,000
Administrative  
Expenses 12,700 12,500
 35,700 36,500
Operating 69,300 1,48,500
Income (A – B)  
Other incomes 1,200 8,050
 70,500 1,56,550
Non-operating  
expenses 1,750 1,940
Net profit 68,750 1,54,610

 S Ltd Cß 2006 ©ØÖ® 2007 B® BskPÐUPõÚ 
¤ßÁ¸® Á¸©õÚ AÔUøP°¼¸¢x. ö£õxÁõÚ 
AÍÄ Á¸©õÚ AÔUøPø¯z u¯õ›UP. 

ÂÁμ[PÒ 2006 2007 
ö©õzu ÂØ£øÚ 7,25,000 8,15,000

PÈUP: 
ÂØ£øÚ v¸¨£® 25,000 15,000
{Pμ ÂØ£øÚ 7,00,000 8,00,000
ÂØ£øÚ ö\»Ä 5,95,000 6,15,000

ö©õzu C»õ£® (A) 1,05,000 1,85,000
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ÂÁμ[PÒ 2006 2007 
ö\¯À£õmk  
ö\»ÄPÒ (B) 
ÂØ£øÚ ©ØÖ® 

£QºÄ ö\»ÄPÒ 23,000 24,000
{ºÁõP 

ö\»ÄPÒ 12,700 12,500

 35,700 36,500
ö\¯À£õmk 69,300 1,48,500

Á¸©õÚ® (A – B) 
©ØÓ Á¸©õÚ[PÒ 1,200 8,050

 70,500 1,56,550
C¯UP® AÀ»õu 

ö\»ÄPÒ 1,750 1,940
{Pμ C»õ£® 68,750 1,54,610

13. Following are the details relating to the trading 
activities of A Ltd.  

 Stock velocity – 8 months 

 Debtor’s velocity – 3 months 

Creditor’s velocity – 2 months 

 Gross profit ratio – 25% 
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 Gross profit for the year Rs.4,00,000; Bills 
receivable Rs.25,000 and bills payable Rs.10,000. 
Closing stock of the year is Rs.10,000 more than 
the opening stock. Find out (a) Sales (b) Debtors 
(c) Closing stock (d) Creditors. 

 A Ltd Cß ÁºzuP |hÁiUøPPÒ öuõhº£õÚ 
ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

 \μUQ¸¨¤ß ÷ÁP® – 8 ©õu[PÒ 

PhÚõÎ°ß ÷ÁP® – 3 ©õu[PÒ 

 PhÜ¢÷uõº ÷ÁP® – 2 ©õu[PÒ 

ö©õzu C»õ£ ÂQu® – 25% 

 BskUPõÚ ö©õzu C»õ£® ¹. 4,00,000; ö£.©.^. 
¹. 25,000 ©ØÖ® ö\.©.^. ¹.10,000. C¢u Bsiß 
CÖv \μUQ¸¨¦ öuõhUP \μUQ¸¨ø£ Âh 
¹.10,000 AvP®. (A) ÂØ£øÚ (B) PhÚõÎPÒ 
(C) CÖv \μUQ¸¨¦ (D) PhÜ¢÷uõº BQ¯ÁØøÓ 
Psk¤iUP. 

14. The Balance sheets of M/s.Ramu and Somu as on 
1-1-2006 and 31-12-2006 were as follows. 

Liabilities 1.1.2006  31.12.2006 Assets 1-1-2006 31.12.2006

 Rs.  Rs.  Rs. Rs. 

Creditors 40,000  44,000 Cash 10,000 7,000

Mrs.Somu’s     

Loan 25,000  – Debtors 30,000 50,000

Loan from     

Bank 40,000  50,000 Stock 35,000 25,000
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Liabilities 1.1.2006  31.12.2006 Assets 1-1-2006 31.12.2006

 Rs.  Rs.  Rs. Rs. 

Capital 1,25,000  1,53,000 Machinery 80,000 55,000

    Land 40,000 50,000

    Building 35,000 60,000

 2,30,000  2,47,000  2,30,000 2,47,000

 During the year a machine costing Rs. 10,000 
(Accumulated depreciation Rs. 3,000 was sold for 
Rs. 5,000). The provision for depreciation against 
machinery as on 1.1.2006 was Rs. 25,000 and ason 
31.12.2006 was Rs 40,000 Net profit for the year 
2006-45,000.  Prepare a Funds flow statement. 

 1.1.2006 ©ØÖ® 31.12.2006 AßÖ M/s. μõ• 
©ØÖ® ÷\õ• BQ÷¯õ›ß C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ 1.1.2006  31.12.2006 ö\õzxPÒ 1-1-2006 31.12.2006

 ¹.  ¹.  ¹. ¹. 

PhÜ¢÷uõº 40,000  44,000 öμõUP® 10,000 7,000

Mrs. ÷\õ•      

Phß 25,000  – PhÚõÍºPÒ 30,000 50,000

Á[QU     

Phß 40,000  50,000 \μUS 35,000 25,000

•uÀ 1,25,000  1,53,000 C¯¢vμ® 80,000 55,000

    {»® 40,000 50,000
    Pmih® 35,000 60,000

 2,30,000  2,47,000  2,30,000 2,47,000
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 BsiÀ J¸ C¯¢vμ® ¹. 10,000 (vμmh¨£mh 
÷u´©õÚ® ¹. 3,000 ©ØÖ® ¹. 5,000 ÂØP¨£mhx). 
1.1.2006 AßÖ C¯¢vμ[PÐUS GvμõÚ 
÷u´©õÚzvØPõÚ JxURk ¹. 25,000 BPÄ® 
31.12.2006 AßÖ ¹. 40,000. 2006 B® Bsiß 
{Pμ »õ£® ¹. 45,000.  {v Kmh AÔUøPø¯z 
u¯õ›UP. 

15. A choice is to be made between two competing 
proposals which required and equal investment of 
Rs. 50,000 and are expected to generate net cash 
flows as under: 
Particulars Project I (Rs.) Project II (Rs.)

End of year 1 25,000 10,000 
End of year 2 15,000 12,000 
End of year 3 10,000 18,000 
End of year 4 Nil 25,000 
End of year 5 12,000 8,000 
End of year 6 6,000 4,000 

 The cost of capital of the Company is 10 percent. 
The following are the present value factors at 10% 
per annum. 

Years Present value 
factors at 10% 

p.a. 

Years Present value 
factors at 10% 

p.a. 
1 0.909 4 0,683 
2 0.826 5 0.621 
3 0.751 6 0.564 
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 Which project should be chosen and why? 

 Evaluate the project proposals under: 

 (a) Payback period 

 (b) NPV at 10% discount rate. 

Cμsk ÷£õmiz vmh[PÐUS Cøh÷¯ J¸ 
vmh® ÷uºÄ ö\´¯¨£h ÷Ásk®, AuØS \©©õÚ 
•u½k ¹. 50,000 ©ØÖ® RÌUPshÁõÖ {Pμ 
£n¨¦PÇUP[PøÍ E¸ÁõUS® GÚ 
Gvº£õºUP¨£kQÓx.  

ÂÁμ[PÒ vmh® I (¹.) vmh®  II (¹.)
Bsk •iÄ 1 25,000 10,000 
Bsk •iÄ 2 15,000 12,000 
Bsk •iÄ 3 10,000 18,000 
Bsk •iÄ 4 CÀø» 25,000 
Bsk •iÄ 5 12,000 8,000 
Bsk •iÄ 6 6,000 4,000 

{ÖÁÚzvß ‰»uÚa ö\»Ä 10 \uÃu®. BskUS 
10%  GßÓ uØ÷£õøu¯ ©v¨¦ PõμoPÒ 
¤ßÁ¸©õÖ.  

BskPÒ uØ÷£õøu¯ 
©v¨¦ 

PõμoPÒ 
10% p.a. 

BskPÒ uØ÷£õøu¯ 
©v¨¦ 

PõμoPÒ 
10% p.a. 

1 0.909 4 0.683 

2 0.826 5 0.621 

3 0.751 6 0.564 
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G¢u vmhzøu ÷uºÄ ö\´¯ ÷Ásk®? Hß ÷uºÄ 
ö\´¯ ÷Ásk®? QÌUPsh vmh 
•ßö©õÈÄPøÍ ©v¨¥k ö\´¯Ä®: 

(A)  v¸¨¤a ö\¾zx® Põ»®  

(B)  10% uÒÐ£i ÂQuzvÀ NPV. 

16. The following budget estimates are available from 
a factory working at 50% of its capacity. 

 Rs. 

Variable expenses 60,000

Semi variable expenses 20,000

Fixed expenses 10,000

 Prepare a budget for 75% of the capacity assuming 
that semi-variable expenses increase by 10% for 
every 25%. 

 50% vÓÛÀ ÷Áø» ö\´²® öuõÈØ\õø»°¼¸¢x 
¤ßÁ¸® £möám ©v¨¥kPÒ QøhUQßÓÚ. 

 ¹. 

©õÔ ö\»ÄPÒ 60,000

Aøμ ©õÔ ö\»ÄPÒ 20,000

{ø»¯õÚ ö\»ÄPÒ 10,000

 JÆöÁõ¸ 25% US® Aøμ&©õÖ® ö\»ÄPÒ 10%  
AvP›US® GßÖ P¸v  75% vÓÝUPõÚ 
£möámøhz u¯õ›UP.  

——––––––––– 


